P28

(3)

593
CE1~5)
LAFWAIA W 3

#E[E]E& = nerve circuit /
L <
Z I TlE, #R%E D1 < H#E A& = in the passage, (it means) the structure (construction)

connects nerves.
* D73 < = <plain-style-nonpast-affirmative> of D72 = £ 9 g1 = tie, fasten; connect /

EES5EN L5V

#¥51E 9 % = <plain-style-nonpast-affirmative> of #51E L &£ 9 g3 = reform, amend, fix, correct,
|mprove make posmve changes /

IE L Bd £DIC _'E_T = fix so that it becomes correct

* 1& % = <plain-style-nonpast-affirmative> of 72 D £9 g1 = become

* [stem of i-adjective] < %D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D X9 =become [noun]

* [dictionary-form / nai-form] & 5 I = so that
BE

* B9 = <plain-style-nonpast-affirmative> of E L &9 g1 =fix, correct, repair /

Z Y7} — =runner/
(=49 o0&

£ % A =aperson who runs

=49

* 5 = <plain-style-nonpast-affirmative> of E NEI gl=run/

nwecs
# O = clue, scent, key, something which helps to solve a problem (piece of information, object,

etc.) /

& o M\ = opportunity, chance, pretext, handle, beginning, origination, outset, prelude, cue /
H

% D L..fa\b manners /

£ 52

17-|-<0)§?37b\ LJJ‘ how to move a body
~ O [masu-form] A/ = how to do ~ /

fe& Z . =For example, /
FL

2%, & =torun, running /

=49

* % = <plain-style-nonpast-affirmative> of E NFI gl =run

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

|& <topic particle> /
Wolth

—5 = at first sight, at first glance /

kéb%@f T = (X) is simple and .....

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
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is sometimes used to show reason as well. te-form of an adjective and a noun can be used in

either the nonpast sentence or the past sentence. /
SAhES
HICTH TE S EE) = the exercise (sport, motion, movement, campaign) which anybody can

take
* T&E % = <plain-style-nonpast-affirmative> of TZ X9 sg2 =1 can do, be abletodo 2 be

ready, be completed, be finished /
Tlddhd = ThHsd = Thd, =<plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Tdb
N &9 which is more formal than ‘[na-adjective / noun] T9 =is (are, am, etc) /
H. =but,/
c\st\*-‘ =4V éc'l;??_ . . )
&< £ Hiiff) = the technique (technology, skill) which (X) run fast
& 723 &. =where ... is concerned, when it comes to ..., if it comes to ..., as far as ... is

concerned, /
IEHVIEHY =1 very, considerably, easily, readily, fairly, quite, highly, rather 2 (not) easily, (not)

readily, be slow (in doing ~), by no means (with negative verb) /
H
B DIF% Z & =to master, mastering
l7a [7a
* BT DI % = <plain-style-nonpast-affirmative> of &(C DI+ %9 g2 = master, acquire, learn

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

hHY <subject particle> /
sIH sIH

# LU L\, = <plain-style-nonpast-affirmative> of £ L L\ T3 = (X) is difficult //

For example, ‘running’ is the exercise which is simple and anybody can take at first sight, but
when it comes to ‘technique of running fast’, it is quite difficult to master.

BL

BZ 5N L3I =as (X) was taught (told), in the similar way which (X) was taught (told) N2
No.35A \

* %b(i 51 /c = was taught, was told = <plain-style-past-affirmative> of %Lii 51 X9 which is
the passive-verb (be taught, be told) or the potential-verb (can teach, can tell, be able to teach,
be able to tell) of %271 9 g2 (teach, tell) /

249

£ 7 #—L1 =running form /

% <direct-object particle> /
HhrWthA
WEY S I & =to ameliorate, ameliorating
hrWthA LA

* EJ % = <plain-style-nonpast-affirmative> of & U £ 9" g3 = ameliorate, improve, better

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

Y <subject particle> /
h hhTch

~lch
BB TIL 72U = (X) is not simple = <plain-style-nonpast-negative> of fE T = (X) is simple /
M5 2o = <plain-style-nonpast-affirmative> of 55 9, = because ~ //

Because it is not easy to ameliorate your running form as you were taught.
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rn
#ETH TE S EH = the exercise (sport, motion, movement, campaign) which anybody can

take
* TZ& % = <plain-style-nonpast-affirmative> of T& X9 sg2 =1 can do, be abletodo 2 be

ready, be completed, be finished /
7% DIC. = [plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] M (T =1 in order to

do ~ 2 although ~/

& =why/

ZD %&C% = betterment, improvement, advancement; reform /

75\ <subject particle> /

¥E L\ = difficult /

D D5, =D £35h [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] d 125
S h\is used to ask oneself a question and @ implies ..., | wonder’ * Actually 723 S is the
plain-style of TU & 3 which means ‘1 Probably ....... 2 e , right? //

Although it is the exercise which anybody can take, why is its improvement difficult?

;Li = as a matter of fact, in fact, to tell the truth /

jstnﬁﬁ ’IE\*LT W5 %ﬂ’éﬁ = the action (movements, motions, bearing, behavior, manners) which
(X) usually (habitually, ordinarily) get used to

* 'IEHT L\ % = <plain-style-nonpast-affirmative> of | 1T WX =getusedto

* ‘Imhiﬁ' g2 = grow accustomed, get used to

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
|[¥&. =[dictionary-form / i-adjective / na-adjective + na / noun] |£ & = the more ~, the more
~ N2 No. 96 /

%@éﬂ?’éﬂ R lﬁ%fﬁhﬂ = nerve control towards that action N2 No.9

LAlFn
* #E = nerve, sensitivity

* %ﬁﬂ = rule, control, direction, domination, command /

Y <subject particle> /

L > H D & =tightly, firmly

TZEHH > T LB = <plain-style-nonpast-affirmative> of TZHH > T LWEX T = complete,

finish, be ready
*TEHHD XTI g1 =complete, finish, be ready /

M5 12, = <plain-style-nonpast-affirmative> of *5 9, = because ~ //
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To tell the truth, because the more you get used to the usual action, the more firmly the nerve
control towards that action is completed.

MOEA

EE 0 ¢ TS'ZﬂI’(b T7A—L% HET D I & =to ameliorate (ameliorating) the technique and form

of an movement
HhhtA HhhtA

* EJ B = <plain-style-nonpast-affirmative> of (& U £ 9 g3 = ameliorate, improve, better
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

(& <top|c partlcle>/
=4 LAFWA W 3

D EEJJ%E i@ﬂ@“% BR[O IR = the nerve circuit which controls that movement
L& w L& w

* ¥ EC9 % = <plain-style-nonpast-affirmative> of Xfic L &9 g3 = dominate, rule, control,

command /
% <direct-object particle> /
”

<
HAEZ 2 I & =to recompose, decomposing
< h < h
* 1 HE X % = <plain-style-nonpast-affirmative> of % X £ 9 g2 = recompose, rearrange,

reset, recombine

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
[c/

73 % = <plain-style-nonpast-affirmative> of 7& D £9 g1 = become

e~ ZEF Z&ICED XTI =Todo ~ means that ..... /

DT, =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] D C. = because ~/
<> =s0/

75\/1;7“&\/1;

BB = simply /

|& <topic particle> /

WLWHVE LY, = don’t go = <plain-style-nonpast-negative> of \L\& X9 g1 (go) //

Because ameliorating of the technique and form of a movement means that you recompose the
nerve circuit which controls that movement, it doesn't go so easily.

Jd—F =coach/

|& <topic particle> /

57T 3

H?ﬁ@ #xD . =shaking of arms

=3 e

Hﬁzﬂ) E ' /. =how to move one’s knees
=9

*BU'E 9 g1 =carry, transport, move, convey
* (A) @ [masu- form] 75\71 = how to do (A), the way of doing (A) /

C&SkW HAIFWL

RO FHED HYD 7’:7 how to tilt an upper part of the body forward

&Sk

* K = upper part of the body, topmost part of the body, shoulders and head
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FhlTn
BIftE = forward inclination (tilt), leaning forward, stoop /

&, =etc., and the like /

7 #—L =form/

% <direct-object particle> /

3o RcAN LS50

#BIE LU &K S = let’s reform, | shall reform = volitional-form of #1E U &£ 9 g3 (reform, amend, fix,

correct, improve, make positive changes)

é: <quotat|on partlcle>/

EI:EI%L/ ? = }EIJ-F_Fg_%o Z LT, =instructand .....
LeES LeES

*IEEIT S = <p|a|n-style-nonpast-afﬂrmatlve> of 58 U £ 9 g3 = instruct, teach, guide

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal I

T % Z(33 5> F— = the runner who is instructed
* %H% = <plain-style-nonpast-affirmative> of SFET g2 = receive, catch, get; accept, have,

take
B also /
LS50

?a?ﬁé’ml 17-|S D E)J?S M {EIE = the correction of the movement of his body which was
pointed out (by his coach)

* ?E?%éhf: = was pointed out = <plain-style-past-affirmative> of ;ETT%E’S N F 9 (be pointed out)
wtlic_h@i\s the passive-verb of ?ETT% U £79 g3 (indicate, point out, draw attention to)

* {Z1E = correction, amendment, revision, modification, alteration, making right, act of making

corrections /
IC <recipient particle> /

%‘bﬁi = consciousness, awareness of one's surroundings; senses, soundness of mental ability /
% <direct- object particle> /

F']H‘C r']b‘%o Z UL, =turntowards and .....

* F'D'J |7 % = <plain-style-nonpast-affirmative> of F'Dﬁb“i"é’ g2 = turn towards; point, direct

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
NL—Z=>79 2% D =train

*NL—Z>79 % = <plain-style-nonpast-affirmative> of kL —=>7 UFXT g3 =train,

instruct, coach
* Here ‘no’ is used to make a noun phrase (to change a verb to a noun).

3'37

EETH D, = <plain-style-nonpast-affirmative> of & i BTHDET = (X) is general (ordinary,

usual)
* T B, =<plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D F 9~ which is more

formal than ‘[na-adjective / noun] T3 =is (are, am, etc) //

It is ordinary that the coach instructs (the runner) in order to amend the form (how to shake an
arm, how to move a knee, how to tilt an upper part of the body forward, etc) and the runner
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which is instructed (by his coach) turns his consciousness to the correction of the movement of
his body which was pointed out (by his coach) and trains himself.

b?f)‘b\ = But, /
EJJT’F ) bﬂmjm‘ = the correction of a movement /
IC <purpose particle> /
Lat <top|c partlcle>/
< 0)) H#F'Eﬁ & ‘fﬁ%'f) R b a lot of time and repetitions (reiterations, acts of repeating) /
h¥ <subject particle> /
?IZD\%T“ZZ D, = ?IZD\%T% ST, =WETH5, £UT. =(X)isnecessary and ....
* T, =<plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T D X9~ which is more
formal than ‘[na-adjective / noun] T3 =is (are, am, etc)

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /
X/ =and, also /

D %ﬂjﬁ = that effect (effectiveness, efficacy, result) /

HY <subject particle> /

j:b“%@tb\ = don’t rise = <plain-style-nonpast-negative> of j:b“ N E9 g1 (rise, go up, climb
up) /-

- ﬁ‘b%b\ Bt '9 £ 9 = bear fruit, take effect

Z5h

- ZFD b%?b\ J:7f)\ N £t A =don’t bear fruit about that, don t take effect about that &2 /
&b %’7\,\0 = <plain-style-nonpast-affirmative> of Z & %’7\/\’(“@' = (X) often do ~ //

But they need a lot of time and repetitions in order to correct the movement and it often doesn't
bear fruit (it doesn't take effect) about that. &

ZUT. =And,/
5 h [
NL—Z>7® PRI EASE A =the person whose training doesn’t bear druit

S5 h %
*jﬂ%b“ LM 570N = don't bear fruit, don’t take effect = <plain-style-nonpast-negative> of
fiJ AN J:7b\ N %9 g1 (bear fruit, take effect) /

3 <topic particle> /
SAESUAIFW

DEEHRX, = reflexes, motor nerves /

3|
\Jt

-—

¥ <subject particle> /

ES &

R < 72 \\ = <plain-style-nonpast-affirmative> of B < 7R W\\TT = (X) is good /

E WS Z& T #R3, =<plain-style-nonpast-affirmative>of & WS Z & IC D XT = (X)

means that ..... //
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And the people whose training doesn’t bear fruit means that their ‘reflexes (motor nerves)’ are
not good. &-

FH W
ZDiZE. =in this case (occasion, situation) /
SAESELwD LS50

EBEIRATD {E1E = the correction of the technique of a movement /
|& <topic particle> /

SAES LA\ W 3 [ 3eRcANY
EEID HIFEEKZ 1IKL—I:?%>J Z & =to correct (correcting) the nerve circuit of a movement
LS50 LS50

*fE1E9 % = <plain-style-nonpast-affirmative> of {&€1E U £ 9 g3 = modify, adjust, correct, make

right
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
T 5 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] Td D E 9’ which is more

formal than ‘[na-adjective / noun] T3 =is (are, am, etc) /

& <quotation particle> /

AW

EZ% Z& I &o7T =by means of considering N2 No.13C

N

* & X % = <plain-style-nonpast-affirmative> of %Z_iﬁ' g2 = consider, think over /
Wi wecs

fER®D O = the clue of the solution (settlement, resolution, ruling, decision) /
hHY <subject particle> /

HDOM B, = <plain-style-nonpast-affirmative> of #2H D £3 g1 = be found, be discovered //

In this case, the clue of the solution will be found by thinking that the correction of the technique
of the movement is equivalent to ‘correcting the nerve circuit of the movement’.

ElwD P L>&<
AMR—YEMP TBDZHUL); @ B =learning (acquisition) of sports techniques, manners
(how to move a body), etc /
I <purpose particle> /

|& <topic particle> /
LAFWHh W 3

RO IR = the nerve circuit /

IC <recipient particle> /
L&<EDTE

B MIC = directly /
LiFE

3% = stimulation /

% <direct-object particle> /

U&> <A S
52_%6 &5 7% ML —=>7 E£D IX =inventiveness which we see from the viewpoint of
training such as giving ~ N2 No.35A No.88/

hHY <subject particle> /
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02&5

B TH S, =<plain-style-nonpast-affirmative> of M\E’CE% N %9 which is more formal than

02&5

WETY = (X) is necessary //

In order to master sports techniques and ‘how to move a body’, the inventiveness which we see
from the standpoint of training is necessary such as giving stimulation to the nerve circuit
directly.

()
T X =ingenuity, inventiveness, ingeniousness /

%Z <direct-object particle> /

WB W5 & =variously

%1’&% S 5IC. = while putting something on (piling up, heaping up, adding, appending) N2
No.20

* %bé = <plain-style-nonpast-affirmative> of %bi@“ g2 = pile up, put something on another,
heap up, add, repeat /

E5 &
'H)F = action, movements, motions; bearing, manners; behavior /

%Z <direct-object particle> /
AA=I U, =AM X=IULT =AM X—IF%, LT, =imageand .....
* 4 X—39 % = <plain-style-nonpast-affirmative> of ¥ X—3U &9 g3 = image

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more

formal. /
WA

Fh%a K9 %) Z & =tosenseitin one’s body, sensing it in one’s body

Wb A feWh A

* {KR% 9 % = <plain-style-nonpast-affirmative> of & L £ 9 g3 = sense ~ in one’s body

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
— to image an action and sense it in one’s body /

Y <subject particle> /
SAES LAFWD W 3

BB RO = the nerve circuit of a movement

% <direct-object particle> /
HhrWthA
WET S DIT = in order to ameliorate
HhWtEh HhWthA

* EJ % = <plain-style-nonpast-affirmative> of & U £ 9 g3 = ameliorate, improve, better

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M |c = 1 although ~, in spite
of ~ 2inorderto ~/

%(VDT = exceedingly, extremely, very /

%%\i’(&% Z & =10 be validity, to be availabilty

* § T 3 b <plain-style-nonpast-affirmative> of ExJJ’Ca'Z N Z£ 9 which is more formal than

% i T9 = (X) is validity (availability, effectiveness, state of being valid, obtainability)

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

¥ <direct-object particle of oD XTI >/
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P> T Efc, = started to understand, came to understand = <plain-style-past-affirmative> of
P> T ZFXT (start to understand)

*PHOh D XY g1 =understand /

* * [te-form] X 9 =1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far //

While trying various inventivenesses, we have begun to know the fact that “imagining the action
(movement) and feeling it inside our bodies” is very effective in order to improve the nerve
circuit of a movement.

Ziﬁbzﬁ 5
IVHREE

aﬁ SUAIFW AN

NEBERED ﬂ% = science of reflexes (motor nerves)
#T%H = anybody, no matter who (X) is /
HLU
/& = leg, foot /
|& <topic particle> /
M

R < 725 = <plain-style-nonpast-affirmative> of < 72D £9 g1 = become fast (quick)

* [stem of i-adjective] < 7% D T ; [na-adjective] IC & D £I = become [adjective]
* [noun] IC 7& D F¥9 = become [noun] /
— anybody will be able to run fast. /

I5RALY

A1t lc £ B = published by Kou Dan Sha

(3w (249

®< £ TS'Z1TIJ = the technique (technology, skill) which (X) runs fast /
|& <topic particle> /
28 =why/
%LC D} % Z & =to master, mastering
* %6: D+ % = <plain-style-nonpast-affirmative> of %LC DI+ E 9 g2 = master, acquire, learn

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
¥ <subject particle> /

;Ebb L\, = <plain-style-nonpast-affirmative> of %Eb W9 = (X) is difficult /

DN, = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] ® TI H =...... , lwonder? ; ...... , I doubt ; ....., | want to draw your

attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — O can be

changed to Au. //
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Why is it difficult to acquire “the technique (technology, skill) which we run fast”?

249

FE2 7 #—LI =running form /

E? (=49}
* % = <plain-style-nonpast-affirmative> of €0 £9 g1 =run/
|& <topic particle> /

ws &
—F& = once /

ZTW ZTW

EE =13 = <plain-style-nonpast-affirmative> of ElZE =11 &9 (be fixed, be stabilized) which is
the passive-verb of T% L 9 g3 (fix, stabilize) /

& =....and naturally ...., ... and consequently ..... /

ﬁ'\:i 517 L\ = cannot change = <plain-style-nonpast-negagive> of j’ii 51 E T which is the
potential-verb (can change, be able to change) or the passive-verb (be changed) of %ii@' g2

(change) /
M5 =because ~ //

Because once the running form is fixed, we cannot change it.

249

£ 7 #—LI =running form /

* %%%) = <plain-style-nonpast-affirmative> of % NDFEI gl=run/

% <direct-object particle>/

?Etia%?'% %E = the method (way) which (X) instruct

* ?b‘a‘%—"é‘% = <plain-style-nonpast-affirmative> of J%E%— L &9 g3 =instruct, teach, guide /

¥ <subject particle> /

% E D = (not) so, (not) much, (not) really / ’

gﬁ%%éh? LVE LY = be not ameliorated = <plain-style-nonpast-negative> of gﬁ%%énT WET
(be ameliorated) ‘

* %%éhi@“ = be ameliorated = passive-verb of %52% LU £9 g3 (ameliorate, improve, better)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

M5 =because ~ //

Because the method which they instruct the running form is not improved much.
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3

%% =8 @ %E/ﬁ%@ Tbﬂﬁhé’% = the structure of the nerve for running

* %% = <plain-style-nonpast-affirmative> of % D&EI gl =run

* [plain-style] 7z (IC) = 1 because ~ 2 in order to do ~ /

|[& <topic particle> /

9 TIC = already /

TETCWT=TZET W3, £ULT. =(X) have been completed and .....

* TZE T L% = <plain-style-nonpast-affirmative> of T& T L\& 9 = have been completed

* TEFXJ sg2=1cando, be able to do 2 be ready, be completed, be finished

* [te form] LWZE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
Z < LY = <plain-style-nonpast-affirmative> of xZ_ [ < WTF = be difficult to change

* [masu-form] Z< LWWTY = be difficult to do ~, be hard to do ~ /

M5 = because ~ //

Because the structure of the nerve for running has already been completed and it is hard to
change.

AT

%é = D *¢‘f¢@ A2 = the structure of the nerve for running
* i%) = <plain-style-nonpast-affirmative> of iE NEI gl =run
* [plain-style] 7= (IC) = 1 because ~ 2 in order to do ~ /
Lat <topic partlcle>
1’@0) %J?’E e & *1*% 7% B D = the special (unique) thing which is different from other
actions
& iE S = <plain-style-nonpast-affirmative> of L\i@' g1 = differ, be dissimilar, be different;
disagree; be wrong, be mistaken

Because the structure of the nerve for running is the special one which is different from other
movements (actions).

i H W i H W

CDIZEE 1= ZDHFEE E WS D + [F <topic particle> = the thing which is ‘this case’
*(X) EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
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& H W E» W
ERARZBED = <plain-style-nonpast-affirmative> of & A%k #5E TI H* = what kind case

(situation, occasion) is (X)?
What kind of situation is the underlined ‘this case’?

—

Nl
8% = practice /
e < urpose particle> /
Uw> Uhh
Fo5% e = enough time /
¥ <direct-object particle for the potential-verb> /
& &
X173\ = cannot take = <plain-style-nonpast-negative> of EX#1 & 9 (can take, be able to take)
&
which is the potential-verb of XD £ 9 g1 (take) /

£ H W0
5 8& = case, situation, occasion //

when we cannot find enough time for practice (training)

nhlLw> Z5h

BB D R = effect of practice /
Y <subject particle> /
> F < = skillfully, well /

H5D

IR 7% L\ = don’t appear = <plain-style-nonpast-negative> of IE#’L?@“ g2 (appear) /

EH W
5 8& = case, situation, occasion //

when the result (effect) of practice (training) doesn't appear properly

249 v MOEA

ED D lE = amelioration of the way of running
* (A) @ [masu-form] H/c = how to do (A), the way of doing (A) /
IC <recipient particle> /

Lw>5w> Lw>5w>

&7 TZE 72\ = cannot concentrate = <plain-style-nonpast-negative> of TZXY (can
LS55

concentrate, be able to concentrate) of £/ U &9 g3 (concentrate) /

;@u

%5 = case, situation, occasion //
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when you cannot concentrate on the amelioration of the way of running

J—FO ?b‘é‘t%% = an instruction of a coach /

hH <direct-object particle for the potential-verb> /

fﬁﬁé’( & 72 \L) = cannot understand = <plain-style-nonpast-negative> of fﬁﬁ%’c? =&X7 (can
understand) which is the potential-verb of féjﬁ%’: L ¥9 g3 (understand, comprehend, realize,
grasp the meaning of) /

[Er- 3
54 = case, situation, occasion //

when you cannot understand the instruction of your coach

(=Y

%$#(C &% &. =according to the author, /

[E3 (249 =4V el

&< £ Hiilf) = the technique (technology, skill) which (X) run fast /
%Z <direct-object particle> /

¥

%LC DIF% (I =in order to acquire (learn, master)

* %LC D% = <plain-style-nonpast-affirmative> of %LC DX 9 g2 = acquire, learn, master
* [plain-style] [T & = [plain-style] 728 (< (& = in order to do ~ /

E>S =how/

91 LY = <plain-style-nonpast-affirmative> of 97 11(d L\L T I = should do ~

* I 1lE = conditional-form of U &9 g3 (do)

* [conditional-form] L\UW T = should do ~ /

HY <question particle> //

According to the author, what should we do in order to acquire the technique of running fast?

—

3 [=4¥} S5
H< ES #HE = the movement which (X) run fast
9

I

FL
* % = <plain-style-nonpast-affirmative> of €0 £9 g1 =run/

H

<direct-object particle> /
HlcE
58 = head /
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Lu <reC|p|ent particle> /
:Jfﬂab\’C —iaa< ZUL7T. =draw and .. »
* TEE < = <p|a|n-style-nonpast-afﬂrmatlve> of ?ﬁ?% &9 g1 =draw, sketch; paint, apply color to a
surface; design, delineate; picture, describe /
D B TE = that sense (sensation; feeling, impression) /
%z <direct-object particle>/
?ZELC = by means of a body /
% U2 £DIC 9%, =<plain-style-nonpast-affirmative> of F& U2 &2IC ULXT =(X) make
sure that he feel
R L/ % = <plain-style-nonpast-affirmative> of R b X9 sg2 =feel

* [dictionary-form / nai-form] & 5 IC U &9 = (X) make sure that he does ~ /doesn’t do ~ //

You make sure that you draw the image of the movement which you run fast in your brain, and
feel that sense with your body.

LAFW

HRED ﬁ:’fﬂé’% = the structure of the nerve /

IC <recipient particle> /
L& <€D

BE# =direct, directly /
L=

HB = stimulation /

%Z <direct-object particle> /
Hic

5 Z % 1=%IT =in order to give

* 27‘_% <plain-style-nonpast-affirmative> of ’ézi@“ g2 = give, present, award
* [plain- style] 71 & (IC) = 1 because ~ 2 in order to do ~ /

WBW3 iR % D % various ways of running

* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A) /

%Z <direct-object particle> /

e e
9 = <plain-style-nonpast-affirmative> of 5. U £ 9 = try, attempt, test //

You try various ways of running in order to give stimulation directly to the structure of the nerve.

HlcEk

98 =head/

C <particle which shows the place where the action takes place.> /
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MAD

EZ% &D¥H =than considering

MhH MADS

* & Z % = <plain-style-nonpast-affirmative> of & X £ 9 g2 = consider, think over /
A E

fAIEE$H = many times /

Nl >

#883& = practice /

%Z <direct-object particle> /

%1’&? = %héo % L. =put something on and .....

* %bé = <plain-style-nonpast-affirmative> of %bi@“ g2 = put something on, pile up, heap

up, add, append
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
=Y

{7 = by means of a body /

BEF

BZ5 LKDIT 95, =<plain-style-nonpast-affirmative> of %Z_é &2l UFET =(X) make
sure that he memorize \

%‘gi% = <plain-style-nonpast-affirmative> of %2&? g2 = memorize, remember, store in the
memory, learn by heart

* [dictionary-form / nai-form] & 3 (C U ¥ 9 = (X) make sure that he does ~ /doesn’t do ~ //

You make sure that you repeat training many times and memorize it with your body than
thinking it in your brain.

LeES
J—F @ #§E = an instruction of a coach /

% <direct-object particle> /
% ¥ 72HY5 = while accepting
* 217 E9 g2 = undertake, accept, take (lesson, test, damage), undergo, experience, catch

(e.g. a ball), become popular
* [masu-form] 7&HY5 = while doing ~ ; N2 No.144 /
(=4V] hie LS80

EDFD {EIE = amelioration of the way of running
* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A) /

IC <recipient particle> /
BALAITW

LHEEE = all nerves /

Lw>5w>

Eh xtET= %EP ‘ét{%o % L. =make ~ concentrate and .....

LS50S L5595

* &b X3 = <plain-style-nonpast-affirmative> of &4 &t %9 (make ~ concentrate)

Lw>5p>

which is the causative-verb of &£FF U9 93 (concentrate focus) /
(=4

FE Do = <plain-style-nonpast-affirmative> of % DEI gl=run//
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You make all your nerves concentrate on the amelioration of the way of running while listening
to the instruction of your coach, and run.
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